FZEERINIXE

2023 F 6 A 16 H (=)

BEAX IR T = Lf-M: * * %k x ok ok * x x k *k *

FTHEIRR: 4 JIL/8— TPDODRQRDO®O®D®O® 100 @ ®® GG ®a®

HDCPERR: (5B) 40.0 (&) 40.0 EE: ARy FOBE ODO—NCToLE QOFHLf
B sz BERES 7™ K 4 > |GROSS| HDCP | NET B3z BRER 7™ N 4 > |GROSS| HDCP | NET JIE{E BER 7 k| « > |GROSS| HDCP | NET
B B A/ ~_annl 35] 35| 70 0.0 /0.0 AB 616 | 5l =5 48] 43| 96| 20.4) 75.6 i HE KRB 51] 53] 104 25.2] /8.8

ETEEITEES 76] 40| 86| 15.6] 70.4 A& 620 | IDFR 2 477 _49] 96| 20.4] /5.6 1226 JLH FIEE 487 497 971 18.0[ /9.0

3 Kz B 2] 41| 83/ 12.0] /1.0 A& 63 |pRbd  — 531 49| 102 26.4 15.6 1236 | AH  »— 50] 53| 103] 24.0] 79.0
M BEH HREE 76] 43| 89 18.0] /1.0 64 | AH Egm 44 45 89| 13.2] 15.8 I TE 32 58] 57| 115 36.0] 79.0
5 eJK  E=E 39| 37, 16| 4.8 /1.2 AB 66 I —5% 421 47| 89 13.2] 15.8 50 EBA B 53] 49| 102] 22.8] 79.2
o | fale =24 T 40| 81 9.6 /1.4 664 Fad 421 47| 89 13.2] 15.8 76 IRIE o 50] 51| 101] 21.6] 79.4
Tm EeA R 5] 42| 87 15.6] /1.4 A& AL = 41| 48] 89| 13.2] 15.8 I | AKN 25 441 56| 100] 20.4] 79.6
8L F/ O H1T 54 45 99] 27.6] 1.4 68 | [A [k 45 50| 95 19.2] /5.8 128 BB gk 541 46| 100] 20.4) 79.6
ot | FlR fA=+ 7] 50| 97| 25.2] /1.8 60 /el BE 44 44] 88 12.0] 76.0 20 il —= 45| 43| 93] 13.2] 79.8
106 |8 JLIE 39 45| 84 12.0] 12. 0 AB 70t | TkfE 1=k 43| 45 88| 12.0] /6.0 k& 306 [E F BT 48] 51| 99| 19.2] /9.8 k&
M | o) Zz 531 43| 96] 24.0] 12.0 T AR = 45] 43| 88/ 12.0] 76.0 1316 |k IFm 47 57| 104] 24.0] 80.0
7 BE &k 0] 43| 83/ 10.8 712.2 T [ ERA 21T 531 47| 100] 24.0] 76.0 320 | =k R 49] 54| 103 22.8) 80.2
3 I FkE 39 41| 80| 7.2 12.8 73 /NME  IF 521 54| 106 30.0] 76.0 Tl |28y E= 55| 54| 109] 28.8) 80.2
M /DR - 397 41| 80| 7.2 12.8 R o =5 421 39| 81 4.8 76.2 T3 |IDR =R 45] 51| 96| 15.6] 80.4
o | ZEE — 351 338 73] 0.0] 13.0 50 A 1B 40] 41| 81 4.8 76.2 oo [11E  SmF 49] 52| 101] 20.4) 80.6
o R — B 47 43| 90| 16.8] /3.2 764z T A 45] 42| 87/ 10.8 76.2 1362 | IZH M 58] 55| 113 32.4) 80.6
T = —ER 74 39| 83| 9.6 /3.4 T |/ =H 46] 47| 93 16.8 76.2 T3/ LEI TR 53] 46| 99] 18.0] 81.0
18f_ |3 H 2 2] 40| 82| 8.4 73.6 78 | EEp =H 46] 47] 903 16.8] 16.2 RS SEIE 48] 50| 98] 16.8) 81.2
IFRE A 74 44| 88| 14.4) 73.6 I EE A 51 43| 99| 22.8) 76.2 T 22 B 53] 57| 110] 28.8) 81.2
0 A =2 79] 44] 93] 19.2] 73.8R& 80 |IUA 3R 45] 54] 99| 22.8] /6. 2| RE 1406 SFfR B2 53] 50 103] 21.6| 81. 4 /RB
2 BRI T 50 49| 99] 25.2] 73.8 81fL [ HF B 521 47| 99 22.8 76.2 4 | mA HaC 48] 54| 102 20.4 81.6
2 AR ATCHE 2] 44 86 12.0] 14.0 82ff B A &= 52 53| 105 28.8) 76.2 GRS 3 46] 43| 94 12.0] 82.0
EEE A 7] 51| 98] 24.0] 74.0 83 H e 421 44] 86 9.6 /6.4 14360 | FF  BX 45] 55| 100] 18.0] 82.0
%% |HE  A— 7] 51| 98] 24.0] 74.0 2 AREEN TR EES 48] 44| 92 15.6] /6.4 IFE S S 58] 54| 112] 30.0] 82.0
e =1 N 2 2] 43| 85 10.8 /4.2 850 H & 43 49] 92 15.6] /6.4 56 IRE = 50| 58| 117 4.8 82.2
260 )iy =1 721 43| 85 10.8 /4.2 861 = % 51 47| 98 21.6] 16.4 460 0 [RF 56/ 58] 114 31.2] 82.8
206 |l PRt 7] 50| 97| 22.8 14.2 RS2 421 43| 85 8.4 76.6 T &F] T 05 541 59| 113] 30.0] 83.0
28ff  |[FA R IEBh 51 52| 103 28.8] 14.2 88 ik PBA—F 47 44 01 14.4] 76.6 148%t ARH 8 53] 52| 105 21.6) 83.4
29 il REB 397 39| 78] 3.6] /4.4 89 |xH jem 48] 43| 96| 19.2 76.8 1290 [BE; 7§ 57 64| 121] 37.2) 83.8
30w 3BA  He 43| 41| 84 9.6| /4. 4 RB o [ BE HF 47 _49] 06| 19.2] /6.8 /KRB 500 |HEE A 61 63| 124 39.6] 84 4 R&
RIEFAE /Y53 1, 44 40| 84 9.6 /4.4 i | B 51| 51| 102] 25.2] 76.8 516 L% Ih+ 60 62| 122] 7.2 84.8
D INE R 44 46| 90| 15.6| /4.4 0 |1k 38 39| 77| 0.0 77.0 52 | AR IERT 66] 57| 123 7.2 85.8
3B P B 44 46| 90| 15.6| /4.4 RFEI R ES 47 42| 89 12.0 77.0 eI 60/ 60| 120 33.6| 86.4
R R 47 43] 00| 15.6| /4.4 W (2L RE 43| 46| 89/ 12.0] 77.0 545 [fERA B 62 67| 129 38.4 90.6/BB
AN I IE S 46] 50, 06| 21.6 /4.4 05 | FJm 2% 511 50| 101] 24.0] 77.0 156f1_ |fN@k  BH= 77 71| 148 40.0]108.0
L |ER %L 46] 50| 96| 21.6| /4.4 ARSI 50/ 51| 101] 24.0] 77.0 ZfE |=H &)
376 |3 EBR 391 38] 77| 2.4 14.6 T = S5 53] 53| 106] 28.8 /7.2
3B/ | HIE Hk 44 39| 83 8.4 /4.6 98z |JI| TE 58] 54 112| 34.8] 77.2
9 [FEH & 43 40| 83 8.4 /4.6 0 |1k =2k 50/ 49| 99| 21.6 /7.4
0/ Ak R 44| 45 89| 14.4] 74 6 %&E 1006 |=,L 1IEX 477 52| 99| 21.6] /7.4 R&E
A B #x 39 50| 89| 14.4] 14.6 01 L0 = 50/ 55| 105 27.6 /7.4
e =20 = 45| 43| 88| 13.2| /4.8 1026 | FH H— 44 42| 86 8.4 71.6
3wl @l 42| 46| 88| 13.2| /4.8 03 20 =If 46| 46| 92 14.4 71.6
A YNEE /4 44 44] 88| 13.2| /4.8 00 |1y 5 47 45 92 14.4 71.6
i hE X 49] 45 94 19.2| /4.8 060 mA & 52 46| 98] 20.4 77.6
460 | Fh Be 45| 49| 94 19.2| /4.8 1060 | 23] ek 50 54| 104] 26.4 77.6
e B A = 47 47 94 19.2| 148 1076 | Jllig KB 42| 43| 85 7.2/ 71.8
43 |HE F— 44 43| 87/ 12.0] /5.0 G 47 44] 91 13.2| 771.8
0% R s 40| 47| 87/ 12.0] /5.0 1000 | 73H =5 43| 48] 91 13.2| 771.8
50w | AP B— 47 46| 93] 18.0] /5. 0/7k& eSS 47 37| 84 6.0 /8.0/RE
o1 EI0 Fh— 48] 45 93] 18.0] /5.0 i (AR ok 49] 53] 102] 24.0 78.0
52/ |42 thER 46] 52| 98] 22.8] /5.2 126 [fell =18 49] 40| 89| 10.8) /8.2
53t |JI[ip —B 42| 43| 85 0.6| /5.4 1136 [ gl 3K 48] 53] 101] 22.8| 78.2
bATL | — 47 44] 91/ 15.6| /5.4 T4 | AH B= 48] 53| 101] 22.8) 78.2
Dol | REp = 47 50| 97 21.6| /5.4 5% A4 {=+F 50, 51| 101] 22.8) 78.2
5602 |FnFF ke 45 45 90| 14.4] 75.6 1602 =R 57| 50| 107, 28.8] 78.2
5T | fREA e 43 47| 90 14.4] 5.6 ICE: I A 62 51| 113 34.8 78.2
e 46] 44] 90 14.4 /5.6 1185 |JnE _ BA 47 53] 100] 21.6] /8.4
ot KRN Eh 45| 45 90| 14.4] /5.6 9 &l FRx 56/ 56| 112] 33.6] 78.4
60 | =5 INER 45| 45 00| 14.4] /5.6 R& 1200 |1 [L—ER 47 51| 98] 19.2] /8.8 7R&

P-1 AAFILEIXTIL TEEER



